hole Numbers

3. 05 . 4 819

pes
@
1
o

Insert a decimal point in eac;h answer tc: make the
quatlon true.

5 5X63= 315, . & 3001x9=27000

7. Algebra If 4n = 3.60, which is the value of n?

;.ing Ieclmals b‘y Iemmals

2 . 44 8. 0861 4. 1.9
X 02 - X &B - x'0.005

5. 061X68= . 6 079%0005=

lnsert a declmal pomt in each answer tcs make the equat:cn true.

7. 02% 44 088 & BB1x52= 45812




Multiplying Fraciions

: o Bz A o '

- . ey 4. HFX2== ' =

T : st . ' @ izﬁx-‘:?}‘“:
ey L 5  1.x 3%:: g 8 , 5

SRR & ol - B iR
B e e 2t x 22 = o

2 X 3 — 6. 3 2"4 i 5 X,%Z

\+/rite each of the following as a mixed number in simplest form.

A

9 a2, 24 T = o gl gD
B SR ; o8- 1A
i6 e 8 . B
3 5:; -'t-a— é-’ 2 g -

Change the following mixed numbers to improper fractions.

ol

eojen

80 2'§_

i

-r-*-]co-

P

9. 133
1

1 8'"9'“



Ly

.

What Did the Waitress Mean
When She Yelled to the Cook:
“1 + 175?

Fill in each blank with one of the answers at the bottom of the

page. Then write the letter of the exercise above iis correct
answer.

The figure at the right is a circle with center at O.

. 'The points on a circle are all the same distahce from the

A line segment from the center to any pomt on the clrcie is a

. A llne segmeﬁt thh both endpmnis on the czrcle is a

_ @ A chord that' passes through the center of a cn'cie is a , :

. A diameter of the circle i m the. drawmg abeve is the segment
@ Which of the foﬂowmg is nata radius: OA OD or BC‘? "

. Whn::h of the fotiowmg is nota chord BC, OA or AC‘?

. Partofa circle, such as between pomts B and G, is an

@ An angle whose vertex is at the center of a ctrcle isa

@ Which of the following is nota central angle: AAOD, £COD, or £ZBCA?
@ Pomts A, B, C, and D are all the same fmm pomt O. |
(O) ' the length of AC s 20 cm, then the length of OCis :

If the iength of OAis 20 cm, then the length of ODi is B .

@ lf the length of OD is 20 cm, then the length of ACis

@ The length of a radlus s

® The set of poinis in a piane at a fixed distance from a gwen pointis a

_the Iength of a diameter.

h h—- 2 ; V".m h .m.r w'm‘
cl8l2|7ls|BlBllslalielElEe|lrlE|8|6|2|8]Rl 6
Dm%h%J:_gQO{oE:OngE%mo
- o N G 2 SRR Elg|o|8 <
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2. 35)4123 . 8. 901144 4. 60BBA

B 1BOBABAE. - e 0.57+30= _

7. :56.2-85'5—59‘—"-"17@ ozl 8. 244 80‘ :

9, ifa package of granala bars wri:h 12 bars costs . ,
, ,$3 48, how much does aach grano!a bar c:ost‘? .

10. _John pand $? 99 for 3 bcxes of cereal The tax.
-~ was $1.69. Exchiding tax, how much did John
.- payfor each box of cereal lf they all were the
‘same -pnce? CoL

Test Prep A

;11 6482 + 1105 B0 5 el T a0 B 4
Asiitlemorsthan6. \   'B.'a'!'rﬁlé'lé“ssffhéhfé.,-”
C.alittle more than 60. = ' D.a little I'e'ss:t_ha_ﬁﬁo-.'

12. Writing in Math Explain how to divide 0.12 by 8.

. s with Lssson 4-11.



#iff§ -« Subtracting Dec amag

2. 405 3. 34587 4, 431000
4223 . 421008 .4+ 84388
5. 16.036+7.009 = _ 6. 9230 +0.32 =

!n sclence class students waighed different amounis of tin.
Carmen welghed 4361 g, Kim weighed 2.704 g, Simon _
welghed 5 295 g, and Angellca welghed 8. 537 o

Haw many grams of tm did Carmen and Angehca have combmed‘?

8 How many grams of tin did Kim and Simon have combined? -+

=

Subtrac:t_‘ 7

9. 921 - 40. - b2.7 JRER 8576 R m R
— 32.6 - — 36.9 - = 12986 — 33

13. 8.7-03= 14, 23.3-132= .

At a Ioca! swim meet ihe second pfase sw&mmer of the |
100 m freestyle had a ttme of 9.33 sec. The first place

swimmer’s time was 1.32 sec faster than the second plac:e
swmmer The thll‘d piace time was 13.65 sec

T

I5 Wha’t was the t:me fcsr the first place smmmer’?

What was the drfference in tlme bezween
the second and third place swimmers?




--:."éra'tions '. | P 3-13

B 2 3+6X2+3=
54 @+2+6= 4 {5-1)XE5+5)=
&, 26*~—-4><5+2-—L T s;-15'><.(7—-7)-+(5_><2)=

7@+ 4)><U><0)— ____,_ 8.5><(6 3)+19 ®- 3)

- o Number Sense thch is atrue statement
5><4+1'--*250r3+7><2 17‘? :

' lnsart-parenthéses to -mjakej each statement true.

10,25 +5 — 4= 25

1. T><4 4 2 26

12. 3+5><2—10 6"

8. ‘Insert parentheses in the express;en 6+ 10 X 2 SO that

' a. the expressmm equals 32

b the expressnon equals (12 + 1) X 2
Te's't'Pi'ep-. | ,
14. Solve (25— 7) X 2 +4 +2. | | |
AB B. 11- &5 D.18

15. Wrrtlng in Math Wrrte two order of operation problems.
Then trade with a classmate and solve the problems. -

ST

R




p CI 1 oot {iL.) is equal i 12 inches (in;);-
Standard Len_gth : 1 yard (yd.) is equal 1o 3 feet.
' ' ' 1 mile (mi.) is egual to 5,280 feet.

= in. | 48in.= it 6yd. 41t = f.
i o

1ft=121n. i 12in.=11ft | if  1yd.=3ft
then 3ft=

(3x12)in.=361in.{ then 48in.=(48+12)ft.=4ft|then 6yd.=(6x3)f =181t
_ T - so. 6yd4ft=18+41

3f=_36 in. | 48in=_4 & 6yd.4ft=_22 f

Circle the best answer.

1. . The length of a desk . " 3in. -3t ~ 3yd. 3mi.

3. Thelengthofapencl . ° 8in.  .Bft . 8yd  8mi
4. The distance around 10blocks .~ *.. 2in. 2% 2yd.  2mi

5. The height of a full-growri oak free ~ 5in. 5% S5yd Smi.

Complete.

7. eyadll w0 4yd2R=l R
e o clamhel T e S L T TRie=n o R

Q. C 6yd.2ft=__ - .  2f10n=___  in

10. . 7®3imn=_____in. - 3Bin=_______ft
1. - 8yd.7H= L 3 mi310fL=_ ft.

12. 84 in. = it 13ft.2in. = in.

13. Smi. 1431 =__ it. . 21yd. 61t = ft.

e —
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Perimeter

in. 1in.
. 2 in.
3 ft. 4in.
2 in.
5§t 4 in.
Perimeter =3+4+5 Perimoter =4+3+1+2+2+4
- 12 feet =16 inches
“ind the perimeter of the following objects.
 Ayd | -
g | | 2
' fi.
4yd. L yd e RN ¢
| ot =2 e
3. 4/ ¥ e
1 g
=1
aN_ly |
- N2, ft e
The area of a rectangle is equal to iis fengih times riis -wi-dﬂz_ 8 Find the area.
4 el length L1
‘er| - X width
cha area 5m
rea = = = e g |
\ - ; 7 Area= - 3 o - - square meters
8 square cm 3 square units- el
Fillin the blanks. N
: _ _ iniz -
Length | Width Area
R Carmaaar-s - square inches
3. 3 feet 6 feet square feet ; '
4. 1 inch 4 inches ~_square inches
5. 5 cm 6 cm square cm
6. 3 km 5 km _square km
7. 4 mm . mm 20 sguare mm



Add.

Simplify if possible.
N 4 A4 5
1. T i ) 3
s 5 2 5
1+ 7 + 12 a: 9 + 5]
3 . o 5.
2, 255 83 - 2F 193
4 -8 5 L
i 198 e W + 878§ L 373
- 2 I, 2 4
3. 3 T - B 45
3 3 - a
T+ 8 x4 -+ 8% +'1.3'
Subtract.
Simplify if-possible.. -
&, » s . 3
4. 8 45 - y 7335
1 y 2 ey g
W i _ 37 _ 833
2 11 &,
5 5 15 T 21':'“—5
a. 5 -3 o
- B - ® - 7 B, DR

& m.wmememﬁﬂmq?

Misth Connection—Grade S—RRBPO172



Geometry: Liries |

KE is a line segment.
CD and GH are lines.

e.....*. B

EFisaray.

T . D
> AB is parallel 10.CD.

e -

| GH and CD are intersécting ﬁ'nes '
EF is perpendioular o AB and CD

"(-'—)'

GH and EF intersect

e g%m gf@bﬁm |

Classﬁy each Clrcle thg best answer.{ %m ool Mégm‘ |
1. - — e mmeerenere —————g—3 line  line segment ray
2, < o % line- line segment  ray

3. @~ ® line line segment  ray
b - parallel .‘_5", fe "'-:,{f_'-"' PRI N parallel
perpendicular | perpendicular
_ inter_s’ebtin_g intersecting
6 7,- = ) 3 o
parallel R | parallel
perpendicular perpendicuiar

Py intersecting B intersecting
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Standard Capacity and Weight

1 pint (pt.) is equal o 2 cups.

1 quart (gt.) is equal to 2 pints.
i galion (gal.) is equal to 4 quaris.
1 pound (Ib.) is equal to 16 ounces.

3pt. = cupé

if  1pt.=2cups -
then 3pi= (3x2)cvps chps

| 8qt

if

then 8qt.= (8+4) gal.

= gal.
-4qt.=1gal

=2gal| then 2 gal. =(2x4)qt.=8qt

2 gal.3 qt. = qt
it 1 gal. = 4 quarts-
‘SO 2ga13qt 8+3qt

ez

Math Conneclion—Grade 5—RBP0172

 3 pt. = _ﬁ___cups 8 q;.;- 2 -gal. - 2¢gal.3 gt =
Circle the best_a_n'swet. | | |
1. the capacity of a glass | - 2cups . 2pt. - 2qt. 2gal
- 5 the capacity of atub | ,Sﬂlcixpfs'_f-ﬁ". 60 p'.{?. T Gth ~ 60gal
3 'the.bépacﬁy_qf“a' sink - 2cups - 2pt | éqt.. 2 gal.
| 4. - - the capadity of pﬁchéf " 'z_cup'_s 2pt . 2qt © 2gal ,'
Complete. & o0 ey
| 5. i_ : 5'pt:.-_f _cups 4}31; - % G
R - 3_.931- s A o 8 E“rvi'pé=_ﬂ_.._d__-_~ o
s | S S'!E.'B,‘tu-z.= - oz. . 4pti cup'=- o cup,'s-
9. l, o 4qt.1p;c..--" pt. | 16 gt. =  gal
10. | 5 pt'._1 cu_ﬁ:‘_. __cups 12pt.= cups
11. 22 pt. = B ' qt g8h.70z.= 0Z.
12. idgi.ipl= pt. 20 cups = pt.
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